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No ik B7 ZF EYIlES S 6BA 6BB 5BA 5BB 4B 6GA 6GB 5GA 5GB 4G
1 HITSE 7 5 12 12,0001 3 1 1 2 1 3 1
2 w2 =7 5 5 10 10,000/ 3 2 1 1 2 1
3 BIFEHRY 2 =7 0 7 7 7,000 1 3 1 2
4 Qualialr, 1 1 2 2,000M 1 1
5 WENRY 2 =7 2 1 3 3,000/ 2 1
6 BfYa=7 5 3 8 8,000M 1 1 1 3
7 AR 21=7 3 1 4 4,000 1 1
8 #Ya1Z7 0 2 2 2,000M 1 1
9 BEY21=ZT 4 4 8 8,000/ 2 2 2 2
10 LEVELINGBC 3 11 14 14,000/ 1 1 1 4 1 1 1 4
11 HELY VX 1 0 1 1,000H 1
12 PRI 2 =7 8 5 13 13,000/ 3 4 1 2 1
13 NBCHTEYa=7T 6 3 9 9,000M 1 1 3 1 1
14 BREYa2zZT 1 1 2 2,000M 1 1
15 EB&Yaz=7 0 4 4 4,000 2 1 1
16 BEY 1T 6 7 13 13,000/ 2 1 1 2 1 1 3
17 FE=JBC 1 3 4 4,000 1 1
18 BringkUp 2 1 3 3,000M 1 1 1
19 atom 2 0 2 2,000 1 1
20 TR 21=T 3 1 4 4,000 2 1 1
21 MC¥az=7 3 4 7 7,000M 1 1 1 3 1
22 I pLN=X 4 2 6 6,000M 3 1 1 1
23 HEY1=7 0 3 3 3,000M 1 1 1
24 B 2 =7 4 2 6 6,000 1 3 1 1
25 ARJBC 1 11 12 12,0009 1 3 4 4
26 wREY2=7 3 1 4 4,000H 3 1
27 BEAY 17 8 8 16 16,000/ 2 2 4 3 1 2 2
28 FRY2=T 3 0 3 3,000M 1 2
29 EHBC 0 2 2 2,000 2
30 RASH 0 1 1 1,000 1
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